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GENERAL MATHEMATICS F

Unit 1, 2005
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 EXAMINATION 1

FACTS, SKILLS AND APPLICATIONS

Name:__________________________________________________________

Teacher’s Name: _________________________________________________

Section A – MULTIPLE-CHOICE

30 Questions – 1 mark each.

Use the blank facing pages for any working. 

All questions must be answered on the answer sheet provided.

An approved scientific calculator and an approved graphics calculator may be used.

Two A4 pages (4 faces) of prepared notes may be brought into this examination.

A formula sheet is provided.

Section B – SHORT ANSWER

The short answer section consists of 4 questions worth 42 marks.

All questions must be answered in the spaces provided.

SECTION A

Q1. Jenna received a pay rise of 15%. She used to be paid $330 per week. Her new  weekly wage is:
A. 
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B. 
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C. 
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D. 
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E. 
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Q2. The price of a Mathematics textbook increased from 
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to $45. The increase in the price as a percentage of the original cost is:

A. 
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B. 
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C. 
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Q3. The solution to 4x – 3 = 11 is:

A. 2

B. 
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C. 60

D. 
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E. 
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Q4. The solution to the pair of simultaneous equations y = 3x - 9 and 2x +  y = 11  is: 

A. ( 4 , 3 )

B. ( 3 , 4 )

C. ( -3 , 4 )

D. ( -3 , -4 )

E. (-4, 3)

Q5. If  2(3x +1) = 2x + 18 then x will equal:

A.  
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B.  
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C. 2

D. 4

E. 
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Q6. A line has a gradient of 3 and passes through (2, 5). The equation of the line is:

A. 
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Q7. When two times a certain number is subtracted from five the result is nine. The number is:

A.  -2

B.  2

C. 
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D. 
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E.  –6

Q8. Think of a number and then add 3. Double the new number. Then divide by 5. If x was the number you started with, then a rule for the final answer is:

A. 
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For questions  9, 10 and 11 use the stem and leaf plot given below.
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            Key:  3|5 represents 35kg

Q9.   The number of values under 43 kg is:

A. 1

B. 2

C. 3

D. 4

E. 5

Q10. The median of the data set is:

A. 3

B. 4

C. 40

D. 43

E. 46

Q11. The interquartile range (IQR) is:

A. 1

B. 2

C. 10

D. 11

E. 12

Use the following box-plot for questions 12 and 13.





Q12. The range for the data set represented by the box-plot is:

A. 20

B. 30

C. 15

D. 10

E. 25

Q13. The median value is:

A. 20

B. 30

C. 40

D. 45

E. 50

Q14. For the data set given below:




x
2
3
4
5
6



frequency
3
4
7
8
2

the standard deviation is closest to:

A. 
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Q15. The r-correlation coefficient for the scatterplot below is best estimated to be:

A. –1

B. 
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C. +1

D. 
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E. 
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Use the table below for Questions 16, 17 and 18.

	X
	2
	4
	18
	7
	9
	12
	2
	7
	11
	10
	16

	Y
	103
	75
	20
	66
	70
	50
	95
	40
	27
	42
	30


Q16. The y–intercept for the least squares regression line for the data set given above is closest to:

A. 
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B. 
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C. 
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E. 
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Q17. The gradient for the least squares regression line is closest to:

A. 
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B. 
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C. 
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Q18. The Pearson’s correlation coefficient (r) for the data above shows:

A. a strong positive association between the variables X and Y

B. a strong negative association between the variables X and Y

C. a moderately positive association between the variables X and Y

D. a moderately negative association between the variables X and Y

E. no association between the variables X and Y

Q19. For which of the following would it NOT be appropriate to construct a scatter plot:

A. The gold medal winning distances, in metres, for the men’s long jump for the Olympic games for the years 1896 to 1996

B. The heights (in metres) and weights ( in kg) of twenty adult males

C. The age (in years) of a group of students and their response (Yes or No) to the survey question “Are you in favour of capital punishment?”

D. The birth lengths (cm) and birth weights (kg) of thirty new born babies

E. The width of a book and the number of pages it contains.

Q20. The total value of an investment of $500, after 3 years, if simple interest is paid at the rate of 16% per annum is:

A. $80

B. $240

C. $580

D. $740

E. $780

Q21. The rate of simple interest if a principal of $8 000 amounts to $10 900 in 4 years is:

A. 
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Q22. The value of $18 500 compounded for 5 years at 
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% per annum is closest to:

A. $20 000

B. $26 600

C. $27 300

D. $29 100

E. $31 900

Q23. To the nearest dollar, $25 000 invested for 3 years at an interest rate of 6% per annum compounded monthly will amount to:

A. $203 681

B. $79 500

C. $29 917

D. $29 776

E. $29 500

Q24. If 
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Q25. If the equations of  four lines are:


p: 
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then the pair of parallel lines is:

A. p  and q
B. p and r
C. p and s
D. q and s
E. r and s
Q26. The equation of the line passing through the origin that is parallel to the line 
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Q27. The distance between the points M(-2, 3) and N(5, -1) is:

A. 
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B. 5

C. 
[image: image76.wmf]53


D. 
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Q28. The perimeter of a square is 48cm. Its area is:

A. 
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Q29. The area of a semi-circle of diameter 15 mm, correct to two decimal places, is:

A. 
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Q30. The perimeter of the given trapezium is:


A. 65 mm

B. 66 mm

C. 67 mm

D. 68 mm

E. 70 mm


END OF THE MULTIPLE CHOICE SECTION
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SECTION B

All working must be clearly shown in the space provided

Q 1. Grant works a 34-hour week at 
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 per hour. His take home pay is 65% of his gross income. 

a. Determine his net income for a week.

(3)

b. If Grant spends 12% of his net income on entertainment, determine the amount he actually spends per year on entertainment.

(2)

c. He saves $40 per week. What percentage of his take home pay is this? Give your answer correct to 1 decimal place.

(2)

Q 2. If a straight line passes through the points P(1, 6) and Q(3, -4), find:

a. the midpoint of the line joining P and Q. 

(2)

b. the gradient of the line joining P and Q.

(2)

c. the equation of the line joining P and Q.

(2)

d. the equation of the line perpendicular to the line PQ and passing through the midpoint of the line PQ (midpoint found in a)

(3)

Q 3. Determine the point of intersection of the given pair of equations by plotting accurate graphs in the space given below.
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(5)

Q 4. A non air-conditioned factory produces denim jackets. It is suspected that higher temperatures inside the factory affect the number of jackets able to be produced. So a study was completed and the following data was collected for 14 consecutive days.

	Max. daily temp. inside factory 
[image: image91.wmf](

)

C

°


	28
	32
	36
	27
	24
	25
	29
	31
	34
	38
	41
	40
	38
	31

	Number of jackets produced (N)
	155
	136
	120
	135
	142
	148
	147
	141
	136
	118
	112
	127
	136
	132


a. Name the:  Independent Variable: ____________________________________



Dependent Variable: ______________________________________

       (2)

b. Draw a scatterplot for the given data. Do not forget to label the axes.


















(4)

c. Find the median for:


Maximum daily temperature: _______________________


Number of Jackets produced: _______________________

(2)

d. Draw the median lines on your scatterplot.

(2)

e. Find the q-correlation value for the given data set. Comment on the result.

(4)

f. Use your calculator to find the Pearson’s correlation coefficient ‘r’. Comment on the result.

(3)

g. Write down the least squares regression equation. Use the proper variable names.

(2)

h. Use the regression equation to predict the number of jackets that would be expected to be produced on a day with maximum temperature reaching 
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